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[3]
AT -1/ PART -1
9 foe™ g s / CHILD DEVELOPMENT & PEDAGOGY

31 : =it goal & Gav 37 & [ qae afEd ey g

Direction : Answer the following questions by selecting the most appropriate option.

[A]

1. 4 AR SR a9 AR &l A
) § garE oI, @ & A W
AN iR BT TON GERAT R FEE
(gamea) &I 3 OTER & S
RIFRRYT HEA ¢ -

1.

Positive facilitation of present learning
through past learning,
addition helps multiplication. This type
of transfer of learning is called :

for example

(1) SR (1) Vertical
2) @Tjib‘&l% (2) Sequential
(3) Uisdt (3) Lateral
COREIECIR (4) Bilateral
2. fooe@ @SS e St @ 2. The democratic organisation of school
geifad FRar 8, AW H T BB influence learning, this factor of
v learning is related to :
(1) fafy foe™ w1 @ (1) Methodological aspect
(2) 9IS 99 | (2) Social aspect
3) HgH Tt 9 (3) Physiological aspect
(4) ANAsE we & (4) Psychological aspect
3. frfeiad & @ - domn fenfiat 3 3. Which of the following is not an

e g ¥ ga FH B appropriate  strategy for improving
SEREN T ? students problem solving ?
(1) faenfia & yeEies e (1) Functional fixedness of students

(2) TEAAR-[9ea qEERT & GEEN b
U e STEER &

(3) ST H GEET G H -
% AT BT

2)

Give extensive opportunities to
solve real-world problems

Involve children's

3)

parents in
problem solving

@) foenfol @ g9 9Hee @ g (4) Monitor students effective and
AR ol dAewrel @ e ineffective ~ problem  solving

(EIE?[?FT) ST strategies
Level-3/4302 P.T.O.
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[A]

e Sgell &1 Taad Bl el J&ish 96
@ ¥ Fifh 98 39 919 H FIK e X
T % SgEe AR 36 URAR & A
T ZoT | T8 TEl I&TeT ©

(1) %aq ST AT A

(2) %ad Sl SO H

(3) oTaRe IR e I TpR B SRR
(4) 7 q TIRD AR T & e SER

qiepios qaE (TE) § 99 & g

frfefaa & & P-4t © o=t aTRe

Ao 8 7

(1) fof= faftt & Swam fenidiat &
MHE B [T BT

(2) T T AMDHIG TUAGOT H ITART
HET

(3) AHESI fAR=eT @l AR
% BRI AW

(4) THAT B kW B [T TEHA &
ST § &

P & Oar § fFg @ W AkE
fop e S’ Al WX STERG Wel e}
ST IR TR & & 7

(1) d-5ee &R

(2) Yo X

(3) USF T &R

(4) oMU Siqdafeds &R

% q@% B TER, IGH dTg [bawl
B ZHH TEiad wXr & R ¥ 9%
% s feam gwdl e 9 s
HON TG GHEST B GHEE HOT 4
ff g @ear 21 39 Saeeer 7 fawm
T qHIad B ®

(1) SATgERmEh

(2) TMEEET &R

(3) WRfsTE SR 9% & oIl aN
(4) weaar (FReRan) gr

Level-3/4302

[4]

Rohan is reading a latest Bahubali comic
book because he cannot wait to see what
happens to Bahubali and his family. This
is best example of :

(1) Only intrinsic motivation

(2) Only extrinsic motivation

(3) Both intrinsic and extrinsic motivation
(4) Neither intrinsic nor extrinsic motivation

Which of the following is a good

assessment strategy to avoid cultural

bias ?

(1) Assess students using a variety of
methods

(2) Use a single, good standardized
test

(3) Assume that ethnic differences are
due to heredity

(4) Avoid
assessment purposes

using  portfolio  for

In Kohlberg's theory, at which level
moral development is internalized and
not based on external standards ?

(1) Pre conventional level

(2) Conventional level

(3) Post conventional level

(4) Mutual interpersonal level

A child's diet affect how tall the child
grows and even how effectively the
child can think and solve problems. In
this example development is primarily
influenced by :

(1) Heredity

(2) Environment

(3) Early-later experience
(4) Continuity



8. fr=ffad # @ &-d dorn fenfdar §

10.

Fiivah  (STeleIoTh) o e &
forepre @l FaaH JhR & G B © 7

(1) T g (Sgeed) e 3o
) fEiE & eyl tetis ket
P FAET S B B B
(3) fiE ® W TER B HETED
FH B A REA I TR aed
g d Ry T qE A AR
HT

4) Tl #1 3| T & B T
T 6 ‘T SR AEl AU
HeMaq Y91 47 B B gHES
AT GUST T

REE & @R, ded Aol A
fpe-fpafar e & @ @N-8
ST H I AF FA © 7

(1) T (Te9M) Hae

(2) TEAM Il

(3) TEAM faere

(4) TEaM HeE-FRY (BREeR)

fpemy et & arer e #d T T

AOE & U gaitew SugE FM

A R

(1) el @ gem 31 & e Fe

(2) Th HEE URH #] [ @
IR & T Hear

(3) NIl I FHHA GishASA H I
Jalq (T

(4) T FH TA GIAA AT GEISl
T /FRHTOT BT

Level-3/4302

[5]

10.

[A]

8. Which teaching strategy is most likely

to foster the development of critical

thinking skill of students ?

(1) Giving a multiple choice test

(2) Assignment for students to create
timelines of important historical
dates

(3) Giving worksheets to students that

require them to recall the facts

presented in their text books

(4) Presenting students with statements

such as "Lal Bahadur Shastri was

our greatest Prime Minister" to

defend or refute

According to FErikson, in complex

societies teenagers experience which of
the following state ?

(1) Identity crisis
(2) Identity achievement
(3) Identity moratorium

(4) Identity foreclosure

Most suitable strategy for a teacher,
when he/she is working with adolescent

students is to :
(D
()

Ask students to make comparisons
Propose a problem and invite

students to form hypothesis

(3) Give children

experience  in

ordering operations

4

Construct an inclined plane or a hill

P.T.O.
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[A]

11.

12.

13.

14.

15.

J % IA e F AW S & R
3fte feorar B &

(1) 20/70 & 20/200

(2) A Mare o= & 99 20/20 3fe
(3) A9 FaR® =6l & 9 6/6 3fte
(4) 20/10 & 20/30

st (Rr) FFEd TR
dr e foemedlt st & e SR
fresl @1 TerEdr | ofU qHe Hl i
I & U HiEed 8§, 98 © ¢

(1) T SIeFm

(2) IR SNl TfEm
(3) E R ™
(4) TS SR SIRR™

qdF b @O, 99 Je fhal FE W
diad & @ U, AT fhAT B
g, g el @ WaE TE wear ®
WM For & @@ fFEww & ™
SIS TN @ I 8, Had ©

(1) EgF Aar Afrafpad &HR &
(2) WE STrwEd (e ) @
(3) AN Heel &

4) it qoE F

THR wErEgd © O TRR Ak

g ity e @ gt #1
(1) R (2) IR
(3) Tt 4) TUgq

EIREE R S | EEO 112 SR T e o
IR, el & wRER, @ eR
foeneE offe SU® foe™ @l gead &ed

g oiX ¥ g7y T&Eq ® ¢
() F@T=q (2 gEaAq
@G) |ATIH (4 TETA A

Level-3/4302

[6]

11.

12.

13.

14.

15.

Children considered as low vision who
have a visual acuity between :

(1) 20/70 to 20/200

(2) 20/20 vision with corrective lenses
(3) 6/6 vision with corrective lenses

(4) 20/10 to 20/30

Learner centered instructional strategy
in which students are encouraged to
construct their understanding with the
assistance of teacher through questions
and directions is :

(1) Discovery learning

(2) Guided discovery learning

(3) Problem based learning

(4) Project based learning

Child's symptoms when, he/she can not

stay focused on a task, act impulsively,

ignoring social rules and lashing out

with hostility when frustrated, is

indication of :

(1) Attention — deficit hyperactivity
disorder

(2) Slow learner

(3) Mentally retardation

(4) Amnesia

is to social cognitive theory as

Vygotsky is to social constructivist

theory.
(1) Skinner (2) Seigler
(3) Piaget (4) Bandura

According to Bronfenbrenner's
Ecological Theory,
peers and school etc. influence his/her

development and they belong to the :

student's family,

(1) Chrono system (2) Micro system
(3) Macro system (4) Exo system

Download from www.MsEducationTv.com



16.

17.

18.

19.

qENeEh F AR, F B B T
T ST S Sl B [Q Sgd o &l
W W X ofis g A @
e § BT €99 &, Heand ©

(1) THHIfeET

(2) ST AfFfTsadr

(3) TR e

(4) o= fowE &

et & oreR, Frfafad & @ @e-a

EELE I S G M | 01 EC A B
I § T 7@ e ?

(1) URBATCHD-EHTHES Tl
(2) STERMERT T

(3) T+ Tl

(4) ST el

.
.

frfafeg & @ f9-91 g9 foeniiat @

M WM W fgde #W H s

g R ?

(1) W& Sad § o9 fQ &
qai®s Fewyel o

(2) ST S S ® 68 TeR Eied
H TqHA B 7

(3) oY o8 IT U XA 0 1 B
RE R

(4) oY 59 THR TBaX STUHICE Ted
ST T B 7

Level-3/4302

[7]

16.

17.

18.

19.

[A]

According to Vygotsky, a range of task
too difficult for the child to do alone but
possible with the help of adults and
more skilled peers is called :

(1) Scaffolding

(2) Inter subjectivity

(3) Guided participation

(4) Zone of proximal development

According to Piaget, which of the
following characteristics is not related
to formal operational stage of children ?

(1) Hypothetico-deductive reasoning
(2) Idealistic reasoning

(3) Spatial reasoning

(4) Abstract reasoning

Parul's intelligence test indicate that she
is average to above average intelligent.
However her grades in reading,
spellings, social sciences and science are
very low. Her maths grades are quite
high & her writing skills are adequate.
Parul most likely has :

(1) Dyscalculia
(3) Dyslexia

(2) Dysgraphia
(4) Dysphasis

Which of the following question is most
likely to get students to reflect on their
purpose ?

ey

What is most important to you in

your life ?
2
3)

How can you organise your life ?
What can you do to get good

grades ?

“)

How can you set better short term

goal ?

P.T.O.
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[A]

20.

21.

22,

23.

gfeenanell St & fog frefafea § @
BT FIHT UG 78] ©

(1) fafare e

(2) SqEARTS frerr

(3) @R (=)

(4) AWM M § I

R o eIl aIfiE FeR STER

amedl olR oTfe T P B B

T B PR B gE SR e

frepR eda ©

(1) TARTRET Farer

(2) SrEAA-TARG Y (SieaRa
FHrfeda =)

3) d=wm  fem R (=R
ST feHeiiEy)

4) it e

frfofed & ¥ B9-a1 9 TR 9= H

el ST €9 § IR He o 7

(1) 99 omWEwedN da« T«w @
fafsre foemeat & fawmm 3

(2) A9 ETHAT W TED B
foemeat o fafdre wem & few &

(3) ORIy SMasTwdr ar SRl Hl |HER
e H oTfepay @Ry frem &

(4) A9 ETHAT W TED B
T HE H QR A R e

" @ T @ SR A felaieg § @

HY-T B g ?

() "t # fefa afrm gm
qRafdd & S B

(2) HFT N H TR STEE B

@gﬁvaﬂﬁﬁmaﬁﬁmmaﬁ
|

4) gFt #wm e wmErver
-t oref fote @t B

Level-3/4302

[8]

20.

21.

22,

23.

Which of the following programme is

not suitable for gifted children ?

(1) Special classes

(2) Remedial Teaching

(3) Acceleration

(4) Enrichment in regular classroom
setting

Young people mainly girls engage in
strict dieting and excessive exercise.
This eating disorder in adolescence is
known as :

(I) Anorexia Nervosa

(2) Obsessive Compulsive Neurosis

(3) Neuro-developmental Disorder

(4) Bulimia Nervosa

Which of the following statement most
appropriately defines the term inclusion ?
(1) Educating children with special
needs in special school

Educating children with special
needs in special classroom of
school

Educating children with special
needs most of the time in regular
class

Educating children with special
needs full time in the regular
classroom

2)

3)

“4)

Which of the following statement is
correct about the nature of emotions ?
(1) Emotional expressions
modified by learning.

Emotions are permanent state of
the organism.

are

2

(3) Emotions are aroused by internal
stimuli.
(4) Certain facial expressions of

emotions have different meanings.



24.

25.

26.

27.

o9 foEmdl ofrm Rwmeg & o
et 36 THeM & S SUFH @
SEN #d & FE ofrm A
frfafeg & @ @9-T@ 2 ?

(1) =naemes Ja
(2) SRt A
(3) |ad At
(4) & Al

5 TR e e e S gEd W
g9 8IS 3, FBAM 8

(1) TS 1 BT

(2) T 1 @A (FH)
(3) NI & FGEH &Y
(4) T B TEEH (HRwHH)

SR F I8 o H T 9§ offv®
et T gEl @ IRA iR Sited B
g, e ©

(1) = (&) frerer

(2) ARERHT PR

(3) wEAr AREH

(4) STV SRFH

frfofag & & H9-91 FF s G
3 foal & SR H TR ?

(1) fopra & ffved ok g SrgAit
greq | B B |

(2) 99 & e o § g9H '
gl

3) fwm oTgERE ol amEReT &
SR (dfRem) B

4) foFm T & e | s
T & |

Level-3/4302

[9]

24,

25.

26.

27.

[A]

Which of the following type of learning
style is used when students approach
the learning material in a way that helps
them understand the meaning of the
materials ?

(1) Practical style

(2) Impulsive style

(3) Surface style

(4) Deep style

Speaking or writing in such a way as to
have an impact on others is known as the :
(1) Grammar of language

(2) Phonemes of language

(3) Pragmatics of language

(4) Morphemes of language

Learning situation in which multiple
partners stimulate and encourage one
another is called :

(1) Team teaching
(2) Programmed instruction
(3) Cooperative learning

(4) Discovery learning

Which of the following statement is
incorrect about the principles of child
development ?

(1) Development follows a definite and
predictable pattern.

All individuals are similar in their

2
development.
3)

Development is  product  of
hereditary and environment.

works on the

“)

Development
principle of integration.

P.T.O.
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[A]

28.

29.

30.

TER & OER, @ @ g (W),
| SRSt iR SR A JeEEe AR
SUGHT TR HTT & AT FEART ©

(1) st g

(2) few-Tioaas e
(stfeeh-predfes gfs)

(3) siadarR g

(4) TR g

e & ogaR, [l & s

O uRREkE @ 3@ R i

HUT & Th B GedlbT B H QG
2

(1) 9 faar

(2) gifsifea Fepy (HepAelE STHM)
(3) IS AT

4) fae=rm

frefofag & @ fpw Aosntye 9
fheia®er  ® U G e
“FreiRmaeer 98 & (ovafy) © Forad

s oliX aRe® &7 @ Semeen 9
MNemEer $H AT aQ &7 7

(1) To o TR
(2) 3o dlo Edil®
(3) o Go 2
(4) TEHo HRTHT

[10]

28.

29.

30.

According to Gardner, the ability to
detect and respond appropriately to the
moods, temperaments, motivations and

intentions of others, is known as :

(1) Linguistic intelligence

(2) Bodily — kinesthetic intelligence

(3) Interpersonal intelligence

(4) Intrapersonal intelligence
According to Piaget, adolescents ability

to evaluate the logic of verbal statement

without  referring to  real-world

circumstances is :

(1) Propositional thought

(2) Transitive inference

(3) Cognitive mapping

(4) Decentration

Which of the following psychologist
defined adolescence as "Adolescence is
that span of years during which boys
and girls move from childhood to

adulthood,
socially and physically" ?

mentally, emotionally,

(1) A.T.Jersild
(2) E. B. Hurlock
(3) L P.Davis
(4) H. Sorenson

Level-3/4302
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ArT- 11/ PART - I

[11]

[A]

A1 (R=T @ 3fISH) / LANGUAGES (HINDI & ENGLISH)

[ =<t/ HINDI ]

3% : Fr=ifr&a goal & Gav 37 & [ qae T ey i

31

32.

33.

34.

B I e A A SR I O
HifoTT :

(1) wgr

(2) G

(3) TAGAD

(4) s

dfy-free o g=-fEr @ g |

ST ehed AT

(1) g + @ = 9

(2) ST + FOT = AT

(3) UR + FHd = IR

(4) 9 + AR = Tq&I<N

e fosheT & @ SUERT & AN 7@ g
g7

(1) IR

(2) =y

(3) e

(4) ATTArH

e faheq H ‘oUEM TgEY H ST
TET g B ?

(1) SRt

(2) ST

(3) V=B

(4) TEwRIT

Level-3/4302

35.

36.

37.

‘et 1 oireaH qoee Yde feh
A0 @ - 3 a9 § 9gE Qe
% 9% R BT -

(1) FiRed degmEmEs Lo

(2) e demErEs L

(3) iR gRHERS Lo

4) Ut Sigsh degmErEm Qe

e o & ‘o’ ST @ SN e © 7
(1) s

(2) @™

(3) StE=d

(4) o

(1) FFqames dsd o Thaas
TP Bl & |
(2) HAfTaTE® T S Bl 2 |

3) 3=, [N, T, TG AR A
Aares Gsl § |

(4) AfFTEE® TG AGAED Gl B
Srfcraraes danell § WuraRer A o
el 2|

P.T.O.
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[A]

38.

39.

40.

41,

42,

P faheq H ‘ArEdrEs Hq T R
TN &g © 7
(1) o
(3) UBdrEr

(2) fesaE
(4) TSR

dfy % sfte A oy fasea ®
(1) Y + HHiEr = IS
(2) faeg + Hft =

(3) ¥g + A = YOHE

(4) WE + AT = ACHIIT

T HE-H AEEEEs s H
fSooraTe s @ 787 gl © ¢

(1) ¥hma= (2) qIrE

(3) ST (4) M9

“A qe9 afed Rl ar dsd &7 -
g qeg § faQmr @ HE-d orawen @

ST g § 7
(1) ©=Eer  (2) JamEe
(3) TWEET  (4) IAEET

BT & oY H oG HYT g

(1) To=pd & A ded ‘B e o1
WA e oqd BRA | TR
& 2 |

2) 3 a= @ F A F4 @, @ fEw q
R @ TR 9 R WS
I o § 98 ‘e & OB § |

[12]

43.

44,

45.

3) % &4 % s o el O
= P STETHAT ol TS & I%
‘gt e R Fed © |

4) o, TN @GN TEE T
Tt fRaTe Bt ¥ |

it gftc § g I8 &l =G BT
(1) 3=
(2) RS
(3) offess
(4) et

Tir-foare @ sfe @ o FA W

gifey

(1) i, fg, TR ST & 2|

2) ‘AT foprReE o B A9 S
2|

(3) ®ell, §ETH UY faeErEEs |l
gt & o # afte @ @R g B )

4) B, ¥, A9 oy =
AT STE & arad UE 2 |

et & ‘oifees’ avt -1 & ?
1 3 2) @

3 X 4) @

Level-3/4302
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[13]

[A]

[ 3135ft / ENGLISH ]

Direction : Answer the following questions by selecting the most appropriate option.

46.

47.

48.

Which one of the following words
underlined in the sentences given as
options has been used as a verb ?

(1) The stage performances are called
Raas Leela.

(2) The performers enacted Raas Leela

on the stage.

(3) Each actor performed in a circular

space on the stage in Raas Leela.

(4) The performing artist moved in a

circular space on the stage in Raas
Leela.

Select the correct option from the
following that correctly transforms the
following sentence from Direct speech
to Indirect speech :

He said, 'Congratulations !'

(1) He congratulated me.

(2) He said to me congratulations.
(3) He exclaimed congratulations.
(4) He is saying congratulations.

Fill in the blank with the correct
preposition :

Do you usually go out ........ Saturday
evenings ?

(1) in (2) at

(3) on (4) within

Level-3/4302

49.

50.

51.

52.

Choose the correct verb form in the
following sentence against the blank
space so as to complete the sentence :

"My father .......... for  Delhi
yesterday."

(1) leave (2) will leave

(3) left (4) will be leaving

Choose the correct option to fill in the
blank space in the sentence which
expresses the correct notion hinted in
the bracket against the blank space :

"You ...... (command) apologise or
face the consequences."

(I) must (2) shall

(3) may (4) could

Pick out the correct option to indicate
the use of adjective in the following
sentence :

"A Cool breeze blew from the sea."
(1) breeze (2) sea
(3) cool (4) blew

Identify the underlined word in the
given sentence.

I see him passing my house every day.
(1) Gerund

(2) Present Participle

(3) Infinitive

(4) Object

P.T.O.
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[A]

53.

54.

55.

56.

57.

Identify the correct meaning of the
underlined idiom in the following
sentence from the options given below :

"Climbing Mt. Everest is not a child's
play for anyone."

(1) very easy to do

(2) very difficult to do

(3) pleasant to do

(4) boring to do

Which one of the following sentences in
the options given below illustrates the
use of Intransitive verb ?

(1) Fire burns.

(2) The principal hoisted the flag on
Independence Day.

(3) She is reading the newspaper.

(4) Our team won the match.

Choose the correct set of articles from
the given options in the following
sentence against the blank space :

"The teacher wrote ......... outline of a
storyon ......... blackboard."

(1) a,a (2) an, the

(3) the,a (4) a,the

Which one of the following words is
not anoun ?

(1) advice (2) rice

(3) device (4) nice

Choose the word which 1is spelt
correctly :

(1) Beegning (2) Biginning

(3) Beginning (4) Begining

[14]

58.

59.

60.

"Reading improves your knowledge."

Identify the gerund in the above

sentence from the options given below :
(1)
2)
3)
“)

knowledge
improves
reading

your

Which of the options given below is the
correct passive form of the following

sentence ?

"The Bhagvad Gita presents a balanced
philosophy of life."

(1) A balanced philosophy of life is

presented by the Bhagvad Gita.

(2) A balanced philosophy of life has

been presented by the Bhagvad
Gita.

(3) The Bhagvad Gita has presented a

balanced philosophy of life.

(4) A balanced philosophy of life was

presented by the Bhagvad Gita.
Identify the compound word from the
options given below :
(1) Development
(2) Newspaper
(3) Powerful
(4) Childhood

Level-3/4302
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[A]

HET -1/ PART -1l
Y AT/ GENERAL STUDIES

[ A QRTAT, dliche SARTEHT Rl | 5T Td 1RSI / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3% : =it goal & Gav 37 & [ qae afEd ey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

64.

3 deH H ol|d g 16 99 T AR
STl MY H AU 4 : 5 7 &, A
9 BT T & oy fhal & ?

(1) 8 ad 2) 9 99

(3) 12 ¥ 4) 16 a9

frdl alien & 60% feemdl s # e
70% TR # I g, A 20% fereed
aNl fowal § ergaiel w8 2500
foemet 1 fomdl & St @ @, @ &
qhenfeil i Hen f § 2
(1) 3000 (2) 3500
(3) 4000 (4) 5000

A BIATELIEECIDE TR
BIEAIMCH TR C,BA
ger B, @1 = ¥ @ dm-a &N
MATE &4 ¥ gF e ?

(1) A, C @ T3 8|
(2) C,D & sgI 8|
(3) D,C & §gI 8|
(4) E,B ¥ 931 8|

T 5 & il 9a€ @l 21 A 3R B
A Hd X fFTRIAD T ARY
I Z 9T 3 e ek 9X S B ?

(1) 7 ®
(3) T

2) T
4) dis

Level-3/4302

61.

62.

63.

64.

The average age of three boys is 16 years
and the ratio of their ages is 4 : 5 : 7, find
out the age of smallest boy.

(2) 9 years

(4) 16 years

(1) 8 years
3) 12 years

In an examination 60% of students passed
in English and 70% students passed in
Maths, 20% students failed in both subjects,
2500 students passed in both subjects. Find
out total number of students :

(1) 3000 (2) 3500

(3) 4000 (4) 5000

A is elder to B while C and D are elder
to E. E lies between A and C and C is
elder to B, then which of the following
statements is necessarily true ?

(1) AiseldertoC
(2) CiseldertoD
(3) Diselderto C
(4) EiseldertoB

Bottom surface of a cube is empty. X is
marked between A and B. Y marked on
the left of A. Then Z marked on which
surface of cube ?
(1) bottom side

(3) in front side

(2) up side
(4) in back side

P.T.O.



[A]

65.

66.

67.

68.

69.

70.

BaR Ca& 9 ARICH®H AD R
A% fm E & @ =fofeg & @
BY-HT 7GT HIT & 7

() EF @A B Bl
(2) B & @1 E 81
(3) D % 9 E B
4 D& T A 3|

N o # fham Rl & s
yfafers eafafia wq & ?

() 8 )9
3) 12 @) 11

=1 2ol § 77 U o9 FIRT -

1CV, 5FU, 91T, 15LS, 170R
(1) 5FU (2) 9IT
(3) 15LS 4) 170R

e ™ el & § 97 aifed

1) 171 (2) 131
(3) 161 4) 181

frfafag g=f & g=y § Ry 1wy
% AR fofem :

i.  Critical ii. Criterion

iii. Crisis iv. Crisp

(1) 11, 1iv, 1,1 (2) 1,11, iv, 1i

3) iii,1iv,1,1i 4) 1iv,iii, 1, 1i

gfe TSl gumren @ fouda w9 ¥ fow

G 9@, @ s X | 199 R &
Tt X 84T T8 HIF-A1 BN ?
) T 2) P

3 Q 4 R

Level-3/4302

[16]

65.

66.

67.

68.

69.

70.

A i1s the brother of B and C. D is the
mother of C. E is the father of A. Then
which statement is false ?

(1) Bissonof E.

(2) Eis father of B.
(3) Eis husband of D.
(4) Aissonof D.

In English alphabet, how many letters
are unchanged in mirror image ?

(H 8 )9
3) 12 @) 11

Find the wrong term in the following

series :

1CV, 5FU, 91T, 15LS, 170R
(1) 5FU (2) 9IT
(3) 15LS (4) 170R

Find the Odd one out from given
options :
(1) 171
(3) 161

(2) 131
4) 181

Write the following words in the order
given in the dictionary :

1. Critical ii. Criterion
iii. Crisis iv. Crisp
(1) iii,iv, i, i (2) 1i,iii, iv, ii

(3) iii, iv, 1,1l (4) iv,iii, 1, ii

If English alphabets are written in
opposite order, then which is the 8th
letter of the 19th letter from left side ?
(H T (2) P

3 Q 4 R
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71.

72.

73.

74.

75.

gl 'PROPERTY' # ol & U@
W 2, s 7 § 9@1 S @ R @
frm 75 o dig ofiel avien & o
9 D AA F A & 7

(1 o
3 4

Teh AR A0 q&3l & Sifehd Tod W
15% % 9T 3 &, 98 I " W
ST qed | o1 A qed Sfehd
% 38 19% w4 & ?

(1) 34% 2) 40%

(3) 25% 4) 30%

o 99 ggErg, far @ ong Sae 9
g @ four B o ad g, R
MY 3G T & Y H 7 A &)
H I Y ©

%l
I

(1) 40 a9 (2) 30 a9
3) 50 a9 4) 45 a9
A 6 TN & fopg qed, 8 Ui & wd

@ & SO &, a1 /e ufoea |
i

(1) 25% @9

(2) 25% &I

(3) 33%% &I\

(4) 33%% @d

Level-3/4302

71.

72.

73.

74.

75.

[A]

In the word 'PROPERTY' how many
such pairs of letter exist, which has the
same number of letters between them
here as what they have between them in
their order in English Alphabet ?

(1) 0 2) 1

(3) 4 “4) 3

Two persons A and B stand in front of
each other in morning. If A's shadow's
lies in the left side of 'A’, then in which
direction B's facing ?

(1) South (2) North

(3) East (4) West

A businessman gives 15% discount on
the list price of his items. How much
price he should mark on his items to the
cost price to get 19% profit ?

() 34% (2) 40%
(3) 25% 4) 30%

After 5 years, father's age will be three
times of his son's age. 5 years ago,
father's age was 7 times of his son's age.
The present age of the father is :

(1) 40 years (2) 30 years
(3) 50 years (4) 45 years

If the selling price of 6 pens is equal to
the cost price of 8 pens, then profit/loss
in percentage is :

(1) 25% profit

(2) 25% loss

3) 33%% loss

4) 33%% profit

P.T.O.
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[A]

76.

77.

78.

79.

80.

81.

e 2)c+7_3)c+11=2)c+8_5 _&;[’ ?:[T
5 2 3

x=7?

(H 1 2) -1

(3) 2 4) -2

TH SO H THYCHE &6 264 TUHIET
¥ AT I 924 THIEX R | 3D A
F TP S q FT STIUC B 7

(1) 7:6
3) 3:7

ThafE S § -G GO 1 Ay
< # 650 To AT 2 ¥ B ot H
676 o B SR ?

(1) 52059
(3) 600 &G

2) 6:7
) 7:3

(2) 572591
(4) 625T07

Fie g9 HERYT &7 Pl T [T X W 2
¥ % foT SUR R T, Ak o @ )
1% ot % Bl Al 399 240 51
s o &l | 7€ o R B 7

(1) 5,000 %o (2) 6,000 %o
(3) 8,000 %o 4) 12,000 o

125 WY ol RS 60 fdl Hiey goay
Pl = § TR T G B 30 Fabvs |
IR FX S 2 | G H qEs e o ?

(1) 375 Hiex (2) 225 "X
(3) 125 Hex (4) 250 Hrex

forem, o R e fafked ©

(1) &
(3) Gepl

(2) fear
(4) e

Level-3/4302

[18]

76.

77.

78.

79.

80.

81.

If 2x+7_3x+11=2x+8_5’ then
5 2 3

x=7

1 1 2) -1

3 2 “4) -2

The curved surface area of a cylinder is

264 m* and its volume is 924 m’ , then
what is the ratio between its diameter

and height ?
(1) 7:6 (2) 6:7
3) 3:7 4) 7:3

What principal on compound interest
has their amount Rs. 650 in one year
and Rs. 676 in two years ?

(1) Rs. 520 (2) Rs. 572
(3) Rs. 600 (4) Rs. 625

A principal lends on simple interest for
two years. If rate of interest more than
1% the simple interest increased by
Rs. 240. Find out the principal :

(1) Rs.5,000  (2) Rs. 6,000
(3) Rs.8,000  (4) Rs. 12,000

At the speed of 60 km per hour, 125
meter long train crosses a bridge in 30
seconds. What is the length of bridge ?

(1) 375 meter (2) 225 meter
(3) 125 meter (4) 250 meter

The district, in which Gujari Mahal is
situated :

(1) Hansi
(3) Panchkula

(2) Hisar
(4) Ambala
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82.

83.

84.

TegEl & W0 O oAl & AR W
BErn & i geEEEl @
S (Falle omafy wawew) HA A
AR HIT

(i) w59

(i) S aT

(iii) gfo=x R gger
(iv) 34 @

el %2 g :

(1) @), (1), (i), (iv)
(2) @), (@), (1), (v)
(3) @), (i), (iv), (iii)
(4) (i), (iv), (iii), (1)

forem it eI 5 e an e B

(1) REr (2) F=R

(3) REri (4) Ve

g 3 B IR H ordifGiEd O W
AR Fifeg -

(a) I 3G TS [ G @l SR
ot |

(b) I« BRIAT H TS g, I ERAM
fer | o St T

SHEd ¥ @ B9-d1/H9-9 99 gg
/R

(1) 3ad (a) | &

(2) A (b) W B

(3) Tdq () AT & (b) T B
(4) (a) T@ (b) I W& B

Level-3/4302

[19]

82.

83.

84.

[A]

On the basis of extent of the period as
Chief Minister, arrange the following
Chief Haryana in
descending order (longest serving first) :

(1) Bhajan Lal

(i1) Bansi Lal

(iii) Bhupinder Singh Hooda
(iv) Devi Lal

Ministers  of

Choose the correct code :

(D) @, (i), (iid), (iv)

(2) @), (), (id), @[v)

(3) @, (i), (v), (iii)

@ (), (iv), (iiD), (1)

The district, which is mainly irrigated
by Jui Canal :
(1) Hisar
(3) Bhiwani

(2) Jhajjar
(4) Rohtak

Consider the following statements about
Shanno Devi :

(a) Shanno Devi was the Deputy
Speaker
Assembly.

of Punjab Legislative

(b) When Haryana was formed; she
was elected as the Speaker of
Haryana Legislative Assembly.

Which of the
statements is/are true ?

(1) Only (a) is true

(2) Only (b) is true

(3) Neither (a) nor (b) is true
(4) Both (a) and (b) are true

above statement/

P.T.O.
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[A]

85.

86.

87.

88.

89.

90.

‘YT IRY THRR-TT & TUEH P

g ?
(1) g (2) gl ;)
(4) 9 A

(3) Bl ™

e UG TEmE 9 % SR H

refiad FI W e Hi :

(a) T FHESI-TMoEEE-Iea TrasE d
ff e 2

(b) TEH HW & 200 Frllo & afere
g

ST & § -1 BUT FaF 2/E ¢
(1) ad (a) 9 8

(2) Fad (b) I

B) AR (@) AT (b) T2
4) (a) 3R (b) 3 T &

qReve] o efaiad ® 9 e e §
T Sl & ?

(1) e (2) QT
3) ®HEA (4) ST
AT F [T IW T
(1) Gua (2) el
(3) I 4) |

YIRS AT BRI Aef-2018 #
Frefoiea & & diF-a1 gewr T o ?

(1) fo= (2) wF
(3) FombEE  (4) fRReE

frafafag & @ fa B &1 swEen
Tcd 999 &9 8 7

(1) &
(3) &=

(2) o
(4) Aad

[20]

85.

86.

87.

88.

89.

90.

Who was the editor of 'Khair Andesh'
Newspaper ?

(1) Chandulal (2) Murlidhar

(3) Chhotu Ram (4) Sham Lal

Consider the following statements about
Eastern Peripheral Expressway :

(a) It is also known as Kundli-
Ghaziabad-Palwal Expressway.

(b) The total length of this expressway
is more than 200 K.M.

Which of the above statement is/are
true ?

)
2)
3)
“4)

only (a) is true

only (b) is true

neither (a) nor (b) is true
both (a) and (b) are true

The Markanda river does not flow in
which of the following district ?

(1) Kurushetra
(3) Karnal

(2) Sonipat
(4) Ambala

The state tree of Haryana is :
(1) Peepal (2) Khejari
(3) Banyan (4) Neem

Which of the following was the partner
nation in Surajkund International Craft
Fair-2018 ?

(1) Egypt

(3) Kazakhstan

(2) France
(4) Kyrgyzstan

Which of the following districts has the
lowest population density ?

(1) Karnal (2) Sirsa
(3) Jhajjar (4) Mewat

Level-3/4302
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[A]

AT - IV / PART - IV

3fUsit / ENGLISH

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

93.

Match and complete the proverbs :

A. Abirdinhand (i) will clutch ata

straw.

B. Don't count your (ii) gathers no

chickens moss.

C. Avolling stone  (iii) is worth two in

the bush.
D. A drowning man (iv) before  they
hatch.
(1) AGv); B(Gi); C@);  D(i)
(2) AiD); B(av); Can;  Da)
(3) AGn; B(); C(v); D(ii)
(4) A@); Bai); C(i; D@v)

Which of the following sentences has a
gerund ?

(1) He found that parking was difficult.
(2) He says he was waiting for a train.

(3) I saw flames rising and heard
people shouting.

(4) I found him standing at the door.

In which one of the following poems
William Wordsworth is enchanted and
moved by a single girl's song ?

(1) Tintern Abbey

(2) I Wandered Lonely as a Cloud
(3) The World is Too Much with Us
(4) The Solitary Reaper

Level-3/4302

94.

95.

96.

The

necessary for a young man as the

famous line, 'Nothing is so

company of intelligent women', is from :
(1) Leo Tolstoy's, "War and Peace'

(2) Charles Dickens's, 'Oliver Twist'
(3) George Orwell's, 'Animal Farm'

(4) Graham Greene's, 'The Power and
Glory'

Which of the following is not a

synonym of 'economical’?
(1) prudential

(2) thrifty

(3) extravagant

(4) frugal

If you were up in arms, you'd be ...... .
(1) holding someone you love

(2) protesting strongly

(3) feeling much stronger than before

(4) fighting a losing battle

P.T.O.
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[A]

97. Which of the following sentences has a
noun clause ?

(1) Because you have done this I shall
punish you.

(2) They went where living was
cheaper.

(3) That you have come pleases me.

(4) If you do not hurry you will miss
the train.

98. What is the word for a 'play on words' ?
(1) pun (2) simile
(3) haiku (4) metaphor

99. Fill in the blank with the correct option :
This house ........... to me.

(1) belongs

(2) is belonging

(3) has been belonging

(4) had belonging

100. Arrange the facts from Einstein's life in

chronological order.

(a) He was a university graduate and
unemployed.

(b) Einstein was born in the German
city of Ulm.

(c) He published his General Theory of
Relativity.

(d) Einstein joins a university in
Zurich.

(1) b,d,a,c (2) c,d,a,b

(3) b,d,c,a (4) b,c,d,a

Level-3/4302

[22]

101.

102.

103.

William Saroyan's 'The Summer of the

Beautiful White Horse'is a story about :

(1)
(2) an

magnificent horse.

a delightful and mysterious dream.

adventurous journey on a

who

3)

two poor Armenian boys
belong to a tribe whose hallmarks

are trust and honesty.

“4)

a family living in the most abject

poverty in the world.

The central theme of this famous poem
is a conversation between a young man
and a young woman on the nature of

beauty.

(1) The Ball Poem

(2) A Tiger in the Zoo
(3) Fire and Ice

(4) For Anne Gregory

Fill in the blank in the given sentence

with an appropriate idiom :

Tf T were you, I'd until the

situation improves.

(1) bang your head against a brick wall
(2) bring things to a head

(3) laugh my head off

(4) keep my head down
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104.

105.

Adrienne Rich in her poem 'Aunt

Jennifer's Tigers':

(1) addresses the constraints of married
life a woman experiences

(2) celebrates the beauty and strength

of the tiger

the creator of the

magnificent beast

(3) praises

“4)

illustrates the relationship between

the hunter and the tiger

Fill in the blanks in the sentences below
by choosing the correct personal

pronouns :

"A man kidnapped a little girl and hid
....... in a bungalow in the outskirts of

the city. ...... sent parents a

ransom note telling to leave fifty

thousand rupees near the post box

outside the Head Post Office. The man

said ...... would then send a, map
showing ...... ...... daughter's where
abouts."

(1) her, he, the, them, they, them, the
(2) the girl, he, her, X, he, X, the

(3) her, they, the girl's, them, he, them,

there

(4) her, he, her, them, he, them, their

Level-3/4302

[23]

106.

107.

108.

[A]

Who is the author of the book 'From

Heaven Lake'?

(1) Salman Rushdie

(2) Khushwant Singh

(3) Shashi Tharoor

(4) Vikram Seth

A person who loves humankind in
general is :

(1) Timid

(2) Philanthropist

(3) Feminist

(4) Amature

Which of the following is a simple

sentence ?

(1) T was surprised when I heard his

dismissal.

(2) He gave a sterling performance in

his debut itself.

(3) As I was busy, I could not meet

them.

(4) The doctor took all precautions still

his condition deteriorated.

P.T.O.
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[A]

109.

110.

111.

112.

Malcom in Macbeth is Duncan's ...... .
(1) Secondson (2) Brother

(3) Friend (4) Eldest son

Which of the following is not written by
Percy Bysshe Shelley ?

(1) Ozymandias
(2) Christabel
(3) Ode to the West Wind

4) To a Skylark

Which of the following is misspelt ?
(1) dermatology

(2) ophthalmology

(3) gynacology

(4) pedagogy

Which poem begins with the following
lines ?

'In the city of which I sing

There was a just and placid king.'

(1) The Tale of Melon City by Vikram

Seth

(2) In the Bazaars of Hyderabad by
Sarojini Naidu
(3) Ajamil and the Tigers by Arun

Kolatkar

(4) Keeping Quiet by Pablo Neruda

Level-3/4302

[24]

113.

114.

115.

Which of the underlined words in the

following sentence is incorrect ?

"Advertisements can be extremely

useful if they were honest and help you

decide what to buy."
(1) be

(2) useful

(3) were

(4) decide

Which among the following plays of

Shakespeare is not a tragedy ?

(1) Hamlet

(2) Tempest

(3) Othello

4) Macbeth

Which of the following is a synonym of
impromptu ?

(1) spontaneous

(2) premeditated

(3) considered

(4) rehearsed
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116. Which of the following is not a story by

Saki ?

(1) Mrs. Packletide's Tiger
(2) The Open Window

(3) The Gift of the Magi

(4) The Lumber Room

117. that

according to their

........... is a political system

separates people

race.

(1) Apartheid
(2) Anarchy
(3) Democracy

(4) Plutocracy

118. Identify the sentence with a Metaphor :

(1) The camel is the ship of the desert.
(2)

As the ship is useful on the sea, so

the camel is useful in the desert.

3)

The camel is like a ship in the

desert.

None of these

“4)

119. Which of the following is not written by

Arundhati Roy ?

(1) The God of Small Things

(2) The Ministry of Utmost Happiness
(3) Interpreter of Maladies

(4) Capitalism : A Ghost Story

Level-3/4302

[25]

[A]

120. "A thing of beauty is a joy forever" is

the opening line of which poem by the

romantic poet John Keats ?

(1) La Belle Dame Sans Merci
(2) Ode to a Nightingale

(3) Endymion

(4) The Eve of St. Agnes

Direction : Read the poem 'London’ by William
Blake and answer the questions given below
(121 to 130) :

I wander through each chartered street

Near where the chartered Thames does flow
And mark in every face I meet

Marks of weakness, marks of woe.

In every cry of every Man,
In every infant's cry of fear,
In every voice, in every ban,

The mind-forged manacles I hear —

How the chimney-sweeper's cry
Every blackening church appalls,
And the hapless soldier's sigh

Runs in blood down palace walls;

But most through midnight streets I hear
How the youthful harlot's curse
Blasts the new-born infant's tear

And blights with plagues the marriage hearse.

P.T.O.
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[A]

121.

122.

123.

While wandering through the streets of
London, the poet :

(1) is acutely aware of the signs of
pain, misery and sorrow in the

faces of the people.

(2) is appalled by the soot that is

blackening the Church.

3)

observes the unlucky soldiers blood

on the palace walls.

“4)

lays emphasis on the sanctity of

marriage.

The poem is not about :

(1) the inequality of power.

(2) the change he sees in the world
around him.

(3) the splendour of the city, the

brotherhood that people share with

each other and the way the

institutions protect them.

“4)

abuse of power.

The city of London is not portrayed by

the poet as :
(1) oppressive (2) suffocating

(3) restrictive (4) humane

Level-3/4302

[26]

124.

125.

126.

Which of the following does not

distress the poet ?

(1) Child Labour

(2) Symbols of Culture
(3) Prostitution

(4) Irresponsible and

Church

government

Which of the following techniques does
the poet use to emphasize the feeling of
bleakness that affects everyone and
from which there seems to be no

escape ?

(1) Repetition

(2) Oxymoron
(3) Personification
(4) Contrast

The word, ‘chartered’ in the first two

lines is a/an :
(1) Noun
(2) Verb
(3) Adverb

(4) Adjective
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127.

128.

129.

130.

The underlined word in And mark in

every face I meet’ (line 3) is used as a/an :
(1) Noun

(2) Verb

(3) Adverb

(4) Adjective

The 'mind-forged manacles' (line 8)
project an image of :

(1) powerlessness/captivity

(2) people handcuffed and imprisoned
(3) anger

(4) protest

In the third stanza, the poet is critical of
the :
(D
2)
3)

chimney sweeper
hapless soldier

blackening church and blooded

palace walls

“4)

political and religious institutions
Which of the following is an example of
an oxymoron ?

(1) blackening church

(2) marriage hearse

(3) hapless soldier

(4) harlot's curse

Level-3/4302
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131.

132.

133.

134.

[A]

Which of the following sentences is not

in the passive voice ?
(1) My car was stolen last night.

(2) Spanish is spoken in many Latin

American Countries.
(3) My house is being painted.

(4) Someone's offered me a better job.

'T must finish the work today.'
The underlined modal auxiliary shows :
(1) compulsion (2) necessity

(3) likelihood (4) obligation

Identify the correct sentence in reported
speech :

(1) She told me she enjoys last night's
party.
(2) The kids said they were happy.

(3) He said me he loved me.

(4) Tom asked where did I live.

Which of the following is in the passive

voice ?

ey

The money was stolen from the
bank.

2)

My friend Tom has a nice house.

(3) The police arrested the burglar.

“)

Doctors help people who are sick.

P.T.O.
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[A]

135.

136.

137.

'We should never get down from a

moving train.'

The underlined word in the sentence is
a/an :

(1) Verb

(2) Preposition
(3) Adverb
(4) Adjective

Choose the correct reported speech of
the following sentence :

They said, 'A bad carpenter quarrels

with his tools.'

(1) They said that a bad carpenter

quarrels with his tools.

(2) They said that a bad carpenter

quarrelled with his tools.

(3) They say that a bad carpenter has

quarrelled with his tools.

(4) They told that a bad carpenter was

quarrelling with his tools.

Which of the following is the correct
phonetic transcription of the word,

"Development" ?
(1) devlepmaont
(2) divelopmont
(3) di:velepment

(4) ddvelopment

Level-3/4302

[28]

138. Which of the following sentences is

139.

140.

grammatically incorrect ?

(1) My house is being painted at the

moment.
2)
3)

I like it when people agree with me.

You know, you are resembled by

someone famous.

The restaurant's kitchen is cleaned

“)
everyday.

Which of the following sentences is

grammatically incorrect ?

ey

Each boy and each girl were

punished.
2)
3)

Statistics is a difficult subject.

The captain of the players has not

come yet.

“4)

A great number of people have

come here.

'T would rather read than talk.'

The underlined modal auxiliary shows :
(1) probability

(2) strong desire

(3) preference

(4) determination
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141. A remedy believed to cure all diseases
and prolong life that was originally
sought by alchemists; a cure-all.

(1) Panacea
(2) Penal
(3) Vigor
(4) Enthuthiasm
Direction : Choose the correct option to

fill in the blanks in the following questions

(142 to 148) :

142.

143.

John talks and talks and talks and yet he

never .......... anything.

(1) says

(2) tells

(3) informs

(4) voice

....... around to my place this
evening ?

(1) going

(2) coming

(3) staying

(4) leaving

Level-3/4302

[29]

144.

145.

146.

147.

148.

The property was divided

twins.

(1) among

(2) between

(3) amongst

(4) amid

The plan will be sanctioned
fortnight.
(1) in (2) by

(3) within (4) for

My parents do not care forrich ....... .
(1) desserts (2) desert

(3) dissert (4) deserter

Marconi is generally credited with the

......... of wireless telegraphy.
(1)
2)
3)
“)

innovation
invention
installation

insinuation

......... is another name for poverty.
Affluence

Sufficiency

Penury

Benevolence

P.T.O.
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[A]

149. Which of the following sentences is

correct ?

(1) At last ! I've been solving the

problem.

(2) Jack has been trying to get his book
published for ages but so far no one

has said 'Yes'.

(3) My friend has been buying a new

car. It looks great.

(4) I've never been understanding

maths.

[30]

150.

'At the interview, Sameer answered our
questions nonchalantly shrugging his

shoulders.'

The underlined word is a/an :
(1) Adverb

(2) Adjective

(3) Verb

(4) Conjunction

Level-3/4302
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If you fill more than one circle it will be treated as a wrong
answer.
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correct Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)
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demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)
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their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the
Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case.
All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should
be properly inked i.e. they should not be either over inked or dried in nature.)
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Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)
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be detached under any circumstances.)
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